ERINZ / Components

No. 2 ¥ / Part name = / Pcs & / Material - FREWE / Color-Finish
1 kv FHs8— / Top cover 1 ASA#tEE UL94HB / UV-resistant ASA UL94HB HRIARF'L— / White gray
HPREABSHIE (UL94V-0 E L% / Flame-resistant ABS UL94V-0 F3—)L% L— / Charcoal gray
2 | 7/RF4— / Bottom base 1 ASA#EE UL94HB / UV-resistant ASA UL94HB RITA RS L— / White gray
HPREABSHIE (UL94V-0 E %) / Flame-resistant ABS UL94V-0 F3a—)L%5 L— / Charcoal gray
3 | FS5A2KAH/N— / Blind lids 2 ASAHHE UL94HB / UV-resistant ASA UL94HB RITA RS L— / White gray

SPRMEABSHE (UL94V-0 EALS) / Flame-resistant ABS UL94V-0 F3—)LY L— / Charcoal gray

HAR4 vk / Gasket 1 21)ar3 L / Silicone 75w% / Black
HATE R (/812K M3 x 8) 4 ATULA e
Screw (Binding head M3 - 8) Stainless steel Unfinished

40

4
2
5
W77 =HI)LT—% / Technical Datall
{REEZE K / Protection class : IP68 (JKZE1 A—k)L 24F%R / Immersion of up to 1m depth and Test time 24 hours )
{§ B E&B / Operating temperature : ASA —20°C ~ +60°C * ABS —10°C ~ +50°C *;¥ 1
#E{TtILY / Recommended torque
H73— / Top—cover fastening : 0.35N-m ~ 0.45N-m
E 4R / PCB mounting : 0.2N*m ~ 0.3N*m
ARABLES SDREOE HE GRS SN F B TECIBBUET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.
. - o T g | — m . g pem — JERN . - m2 /Titl
KE1 TSRAFUIIRERREICEAIFERIELET . EBRETTHEADES . BEN/MOOAENESFELTTIL, RG] Htait ahF T % B /Title N @ -
It may become brittle and break under impact when temperature is lowered close to —20°C P68 KA YA 7
: TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP68 NETWORK PLASTIC BOX
= RE/Scale
/A d ! C d bl Prod b
EHIE(BEEED) / Color Type (End of product number 1) 7K pprove 18X /Checked #UX/Create # /Product number
525 / Code £ / Color #ME / Material R WP15-15-4[]
G RITA T L— / White gray ASA#AE UL94HB / UV-resistant ASA UL94HB iR = 1% H - 1/ 4
c F2—)L L — / Charcoal gray | B#ATEABSHIEE (UL94V-0 EF5)) / Flame-resistant ABS UL94V—0 fERLE/Date 2023/04/11




150+0.5

40=+0.3

102+0.3

17

23

150£0.5

102+0.3

<— A

l=— A
B-B(1:2)
|
M m|

4-R24

4-R0.5

A-A(1:2)

86.5

h
@

v o ©
u| @ ©
3.5 33.5 3 o
o 2
5 5
‘& @9 @ 1] js)//
fnda/Title
TAKACHI| #HXR#HFIHTFERIX IP68FAKRY IR @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP68 NETWORK PLASTIC BOX
7 &%/ Approved #&X/Checked #X/Created B F /Product number RFE/Scale
1:2
WP15-15-41
iR = 1&H 2 ) 4
YERL B /Date 2023/04/11




My T 58— / Top cover

150
102

17

i
N )
[ |

I —

] I_L@\
—

4-R24

4-R0.5

3.5

118
C-C(1:2)
112
1
r ~
Ay
2 7 mﬁ\
& &
E ®
15 N
=
135 I
12.3 ® ®
£\
A\ 4
oo )
& &)
7 —bk / GATE 138
112
o0
[«>]

HRELRMPIK * RFELTLFEEA
Recommended PCB dimension * NOT SUPPLIED

65

4-M3 1% —bob
4-M3 Insert nut

6-M2.6 A EARERfTRR

6—M2.6 Boss

65
86

6-22.8

86

BARHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO,, LTD.

7K F2/Approved #&X/Checked H[H]/Created
iR = 1 H

fnda/Title
IP68FHKRY IR @ G
IP68 NETWORK PLASTIC BOX —~

B F /Product number RE/Scale
WP15-15-41 1:2

YERL B /Date 2023/04/11 3 /7 4




RT+4— / Bottom base

J

{
W

C

150

23

150
l<— E
© o o ©
"— ————— —I
e
N
—Tr ~
F
o
(.
e O o @l
4 \a
< E

2-M4RR A% —Myb (K =30+ WPMB-M4-2ER 4+ )
2-M4 Insert nut for Pole mounting bracket (WPMB-M4-2)

fa N

I

F-F(1:2) 6.5
L[ - N |
IT _— /

4-R24

- |

4-M4F SV ERER AT 7]

E-E(1:2) 4-M4 Mounting hole

L

4-M2.6 FAE R ERfTR R
4-M2.6 Boss

20
N 10
o o =
140
4-R4 36 68 36
4-22.8
| |
S ! !
S > ___Z _
g 3 <
o R r
< i i
| |
HRERBK * RFELTLFEEA 105
Recommended PCB dimension * NOT SUPPLIED
A /Title
TAKACHI] HRX&R#aNTFERIE IP6SRS kAR Yo R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP68 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked #1[X|/Created #F /Product number RE/Scale
WP15-15-40] 1:2
iR = 1 H 4 4
YERZ B /Date 2023/04/11




	WP15-15-4
	WP15-15-4 Model (1)
	WP15-15-4 Model (2)
	WP15-15-4 Model (3)

